EAGRAROBREERT — 2 N— ABISH —F

2020fF11 248 (K) 8EIEFI1H

F) %57 B2=8B3— v5%—#&

‘ (%] & ‘ [Esml  — | 4 (%) 14000 &

[A~&£] 17 :2,600,000  ~ 23 :910,000 § 37 :520,000 § ~ 4 3 :390,000 8 5 7 :260,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
< .= BAER :28. —2-1- . - FLEA (GEF)
11505 IXJELFHILO 4 4 5n5_0|_ 1(2_8)7 2-2-1-1 | 39.1 2 (4351) %}Dl;ﬁﬂ
R:v=248—-3I=24— B:I¥/%FF2 REpRE= e
& )13 :28. X . = KEFESE ()
2 7|¥>Ya—-~10- I 55.0 1(72?:)7 T 8.2 ° (4_811) upk;m
L:A—LiLsFL4Aa B hT £ 15
o 3 _ 4 6 | REML 1:28.9 5-5-4-3 | 38.7| — 6 505 | /NARE (AEF)
315/ 6 7//_17 Uz 55.0 (3/4) (15) | BIIIBEE
Ribh—t>TI4 N BivyialAyv— BEEH IXT4T77—L
N S > Rt :29. -3-2- . - NARE ()
ARER R A o 5 1(229)3 Sz |\ ®7 1 :f;) SEA LR R - ()
R:/ G+ B:R42—-1)—0Ov>2 HBET7—L
S % . f 5 | RES :29.3 4-4-5-4 [ 39.1| — 3 481 | NERR (GEF)
sEY3| 7vF-—FroX 53.0 ) ) |EOWE
LA agR—-5— BET7IAH-) EEickie
i : 4t 5 | PEFIH 1:29.3 6-8-8-7 |38.5| — 9 493 | E#mst (@A)
s 2| 7 hLT1—F 55.0 (AP (o) | B) BtHE
RN—5—-y T B:95T919—F J—HrTr—LA
—a HTEHE & 229, -1-3- . - gy GaFn)
; AR 3 HeE 1(12/92>4 1-1-3-5 | 39.8 4 (g; e o
R:2&2—-UrJ0-X B:70-T1—IFK #FH FB
. t> 9 | BEEE 1:29.4 10-10-11-9 | 37.7 | — 10 506 | FIUESR (D)
8 gl T>2E1IL “ %570 5= 4e) | 0 Loz
%Y/ by THY B:R/ &1 BEZX %Y K
= 4 9 | RNERA 1:29.4 12-11-9-8 | 38.1 | — 8 477 | HOFE (AR
9f(7(10/ 717 FyEO— 57.0 (75%) o |EEE
R:TIVFNTL2 B:LAY-—I>TLX AW 7455
S # 8 | AREX 1:29.9 9-9-10-11 [ 38.5| — | 11 | 479 |JNIK=FS (Ga70)
10/ 8111 Loz K74 55.0 (2 1/72) (-5) WoEF
XL THANAN B:TUEZEZ— g5 Rg
; # 5 | BHE 1:30.5 3-6-6-10 | 40.3| — 7 430 | FEAEE GEF)
1117] 9 R AE ] 53.0 3) +3) HHAR—ERI
R:TRYAYF—5 B:v 42T b A —8l
=3 ¢ . w5 | BSOS 1:31.6 11-12-12-12| 39.5 | — 12 | 466 |EEESB (HF)
12/ 8 (12 =V IN-—AX > 57.0 (5) (+4) EHES
/TR BV /RFLRAA BRI
® I —F—@EBIERL
13=zr= 4,5,9,3,6,2,7,1,11,8,12,10
23—+ — 4,5,1,3,6,9,7,2,11,8,10,12
Gal=7r= 5,1,4,6,3,9,7,2,10,11,8,12
43—F— 5,1,6,3,4,7,2,10,8,9,11,12
[ RN
B OB 5 350H 714K 5-7 530M e & 5-6 750M 3ER 5-6-7 3,550
1 B 5 150 5-6 560 B 5-6 1,590 JEH 5-7-6 16,760M
7 210H 6-7 1,160M B E 5-7 1,600
6 280M B H 5-7 2,800M

ARICOVWTRDTEEERROODE. TR LI,




